
C

B

FIGURE A

ATTENTION: TWO PEOPLE ARE REQUIRED RO COMPLETE THE ASSEMBLY. 
ASSEMBLE IN THE ROOM OF USE.
1.- TURN THE SOFA UPSIDE DOWN ON A CLEAN AND FLAT SURFACE.
2.- PLACE THE SOLID WOOD RAIL WITH LEGS AS SHOWN IN THE FIGURE A.
3.- ALIGN THE LEGS WITH THE BOLT HOLES, DETAIL B.
4.- PLACE THE UNION BOLT IN EACH HOLE OF THE WOODEN RAIL UNTIL YOU FIND THE INSERT NUT.
5.- TIGHTEN THE UNION BOLT WITH THE ALLEN KEY 5/32" UNTIL THE WOODEN RAIL FEELS FIRM.
6.- ALIGN THE REAR LEGS WITH THE INSERT NUT.
7.- PLACE THE UNION BOLT AS SHOWN IN DETAIL C.
8.- USE THE ALLEN KEY 5/32", TIGHTEN THE SCREW INTIL THE LEG FEELS FIRM.
9.- ONCE THE LEGS ARE INSTALLED, MOVE THE SOFA BACK TO ITS ORIGIANL POSITION.

DETAIL C

2
4

DETAIL B

1

3

ITEM # DESCRIPTION #
1 FRONT LEGS 1
2 REAR LEGS 2
3 UNION BOLT 70mm 7
4 UNION BOLT 40mm 4
5 ALLEN KEY 5/32" 1I-IUP-635

12345

ASSEMBLING INSTRUCTIONS



IUP635-ACH

IUP635-LOV

IUP635-SOF

ITEM DESCRIPTION #
1TOR059 TORNILLO PERNO UNION 1/4 x 70 mm BRONCE 5

1TOR094 TORNILLO PERNO UNION 1/4 x 40 mm COBRE 
ANTIGUIO 4

1HER250 LLAVE ALLEN 5/32 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR059 TORNILLO PERNO UNION 1/4 x 70 mm BRONCE 6

1TOR094 TORNILLO PERNO UNION 1/4 x 40 mm COBRE 
ANTIGUIO 4

1HER250 LLAVE ALLEN 5/32 (MUEBLE) 1

ITEM DESCRIPTION #
1TOR059 TORNILLO PERNO UNION 1/4 x 70 mm BRONCE 7

1TOR094 TORNILLO PERNO UNION 1/4 x 40 mm COBRE 
ANTIGUIO 4

1HER250 LLAVE ALLEN 5/32 (MUEBLE) 1

I-IUP-635

12345

ASSEMBLING INSTRUCTIONS


	Hoja1
	Vista de dibujo2
	Vista de detalle C (1 : 5)
	Vista de detalle B (1 : 7)

	Hoja2

